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Directions : Answer the following questions
by selecting the correct option.
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“Political Science begins and ends
with the State.” Who said this?

(A) Gettell
(B) Wasby
(C) Garner
(D) None of them

Who wrote the book, Social Contract?
(A) Locke

(B) Rousseau

(C) Bodin

(D) None of them

Who among the following thinkers

described that Political Science is a
progressive science?

(A) Gilchrist

(B) Maitland

(C) Bryce

(D) None of them

“The study of politics is the study of

influence and the influential.” Who
said this?

(A) Lasswell

(B) Laski

(C) Burns

(D) None of them

The Greek word ‘Polis’ means
(A) State

(B) City-State

(C) Town

(D) None of the above
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Who described Political Science as
the study of authoritative allocation
of values for society?

(A) David Easton
(B) Robert Dahl

(C) Bernard Crick
(D) None of them

The book, A Theory of Justice was
written by

(A) Karl Marx
(B) Gandhiji

(C) John Rawls
(D) None of them

“Power is the key to Politics.” Who
said this?

(A) Kaplan

(B) Robson

(C) Mackenzie

(D) None of them

In which year was the book, Human
Nature in Politics first published?

(A) 1900 AD

(B) 1908 AD

(C) 1915 AD

(D) None of the above

Which one of the following
approaches emphasised on
‘self-regulating’ character of the

political system?

(A) Historical Approach
(B) Philosophical Approach
(C) Systems Approach

(D) None of the above

“Man is a social being, outside the
society he is either God or a beast.”
Who said this?

(A) Aristotle
(B) Gilchrist
(C) Gandhiji
(D) None of them
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Who among the
propounded modern
sovereignty?

(A) Garner

(B) Bodin

(C) Rousseau
(D) None of them

following
concept of

“The state is the march of God on
earth.” Who opined this?

(A) Hegel

(B) Marx

(C) Hobbes

(D) None of them

The concept of popular sovereignty
was first given by

(A) Bodin

(B) Locke

(C) Rousseau
(D) None of them

Who wrote the book, A Grammar of
Politics?

(A) Tocqueville

(B) Laski

(C) Cole

(D) None of them

“Law is the command of the
Sovereign.” Who said this?

(A) Barker

(B) Rawls

(C) Austin

(D) None of them

Who among the following thinkers is

not a pluralist?
(A) Maclver

(B) Lindsay

(C) Austin

(D) None of them
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“Sovereignty is supreme power over
citizens and subjects, unrestrained
by Law.” Who said this?

(A) Bodin
(B) Cohen
(C) Krabbe
(D) None of them

The principle of ‘greatest good of the
greatest number’ was advocated by

(A) Idealists

(B) Utilitarians
(C) Marxists

(D) None of them

Individualism was
scientific grounds by

justified on

(A) Rousseau
(B) Spencer

(C) Lenin

(D) None of them

Liberalism became a definite

philosophy during
(A) 17th century
(B) 19th century
(C) 21st century
(D) None of the above

Who among the following thinkers is
related with the concept of ‘General
Will ?

(A) Hobbes

(B) Laski

(C) Rousseau

(D) None of them

Who is the author of Prison
Notebooks?

(A) Marx

(B) Hegel

(C) Gramsci

(D) None of them
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Which of the following is not a
characteristic of sovereignty?

(A) Absoluteness

(B) Divisibility

(C) Permanence

(D) None of the above

Who among the following
philosophers is associated with the
social contract theory?

(A) Austin
(B) Locke
(C) Marx
(D) None of them

The Marxian theory of surplus value
is largely influenced by the theory of

(A) Malthus

(B) Ricardo

(C) Smith

(D) None of them

Who wrote the treatise, On Liberty?
(A) Green

(B) Laski

(C) Mill

(D) None of them

The philosopher who is not
associated with the Liberal theory of
democracy is

(A) Locke

(B) Hobbes

(C) Marx

(D) None of them

According to Hobbes and Locke,
rights to life, property and liberty
are given by

(A) State

(B) Nature

(C) Society

(D) None of the above
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Bentham specially supported the
theory of

(A) Natural Rights
(B) Ethical Rights

(C) Legal Rights

(D) None of the above

“Nationalism is a menace to
civilization.” Who said this?

(A) Jennings
(B) Gandhiji
(C) Rabindranath
(D) None of them

“The alternative to peaceful
co-existence is co-destruction.”
Who said this?

(A) Radhakrishnan
(B) Rabindranath
(C) Nehru

(D) None of them

When was the Constitution of India
adopted?

(A) November 26, 1948
(B) November 26, 1949
(C) November 26, 1950
(D) None of the above

Who was elected as the temporary
President of the Constituent
Assembly of India?

(A) Dr. Rajendra Prasad

(B) Dr. Sachchidanand Sinha
(C) Dr. B. R. Ambedkar

(D) None of them
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The Constituent Assembly of India
held its first meeting on

(A) December 9, 1946

(B) December 20, 1947

(C) December 30, 1948

(D) None of the above

Indian Constitution has given the
‘Residuary Powers’ to

(A) the Union Parliament

(B) the President

(C) the States

(D) None of the above

When did the Central Government
appoint the Sarkaria Commission?
(A) In 1983

(B) In 1984

(C) In 1985

(D) None of the above

Right to freedom in India is

guaranteed by
(A) Article 17
(B) Article 18
(C) Article 19

(D) None of the above

Which Part of the Indian
Constitution deals with the Directive
Principles of State Policy?

(A) Part II
(B) Part III
(C) Part IV
(D) None of the above
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The Right to Constitutional Remedy
in the Indian Constitution is
provided for under

(A) Article 19
(B) Article 24
(C) Article 32
(D) None of the above

In the Indian Constitution, the Right
to Equality is granted by five
Articles. They are

(A) Article 16 to Article 20
(B) Article 15 to Article 19
(C) Article 14 to Article 18
(D) None of the above

At present, the Right to Property in
India belongs to the category of

(A) Natural Rights

(B) Legal Rights

(C) Fundamental Rights
(D) None of the above

How many Lists are there in the

Seventh Schedule of the
Constitution of India?

(A) Two

(B) Three

(C) Four

(D) None of the above

The normal term of the Lok Sabha
may be extended by

(A) an Act passed by the Parliament
of India

(B) an Order of the Supreme Court
of India

(C) an Order of the President of
India

(D) None of the above

40.

41.

42,

43.

a4,

OOR  RRUCA  MPRTelEd R
HEPICIT TCE TR

(A) Ss TIH 4R
(B) 8 T9H 4R

(C) ©x T «IH

(D) T (IS T

SRR FRRACA 66 AR ARSI
RS corcacm | @Bl 7=

(A) S TF AHI (AT K0 TH AEl

(B) ¢ TF9 41 (I 5> T 4Hl

(C) S8 T4 4l (AT Sv T3 4l

(D) 7@ FIcbe w7

T SRS Tlfen WS @ e
ATTE O T

(A) =AFeT ST

(B) S12A5TS W4T

(C) CTfers S

(D) T (IS 7

SRCed MR AN wHAPIe
Iferl SR ?

(A) 7

(B) feafo

(C) TR

(D) 7 FIcIbe w7

CETIFTOIR HYRE PP AL Pl IR
(A) SIRCSA ARACICD BB 1 e
(B) ©IRCeA FAN (PICOI SO T
(C) SIRCed AG/INeR SICaeed M
(D) Tolcaa @GR 7/

I PTO



45.

46.

47.

48.

49.

50.

/114

The Indian Constitution borrowed
the idea of Directive Principles of
State Policy from the Constitution of

(A) France
(B) Canada
(C) Ireland
(D) None of the above

The Right to Equality means

(A) equal pay for equal work

(B) right against discrimination on
the ground of race, caste and
religion, etc.

(C) equality before the law

(D) All of the above

Which one of the following
authorities is the custodian of
Fundamental Rights in India?

(A) The Speaker of the Lok Sabha
(B) The President of India

(C) The Supreme Court of India
(D) None of the above

Who can abolish the Legislative
Council of a State?

(A) The Governor

(B) The Parliament
(C) The Lok Sabha
(D) None of the above

The word ‘Secular’ was added to the
Preamble to the Constitution of
India by

(A) 41st Amendment
(B) 42nd Amendment
(C) 43rd Amendment
(D) None of the above

The Chairman of the Union Public
Service Commission holds office for
a term of

(A) 4 years
(B) S years
(C) 6 years
(D) None of the above

10

45.

46.

47.

48.

49.

50.

SIRCS TR PR TS @ e
TR (AT 92 202 O 79

(A) =™

(B) @l

(C) SRS

(D) TR @IS

AR SEFCIT o2f 200

(A) ST FICEH T (@O

(B) wife, 39, & zrgforn fefers (e
ReFcm e

(C) SIBCTE CBIC A

(D) TR el

Teo Tfefe (@R FEOrE SEre (i

HAPICT THB ?

(A) CIRPTOR S

(B) ®lHced Age

(C) ®IHCes A (b

(D) Tolaa @ICbe 7/

AcerE RaE e & [RenT 9

[CR / 2ITC 2

(A) ST

(B) “IEfcTD

(C) TS

(D) Toad (@ICbE oW

Sk [4c: IIENE | (C IR B D e i S e

2CAMRE (@ TR AN [T ©f 29

(A) 85T TR A

(B) 8OH MR FCHIEA

(C) 89S FR T

(D) Toad @Icos o™

@I AT FOT INCGR TeAfe @

A & O 77 IS 2 O 2

(A) PR =

(B) *IT6 q=d

(C) =¥ =1

(D) TR (RICAINLE




51.

52.

53.

54.

55.

/114

A Joint Public Service Commission
can be created by

(A) an Order of the President

(B) a Resolution of the Rajya Sabha
(C) an Act of the Parliament

(D) None of the above

The Indian system is different from
the British Parliamentary system in
that India has

(A) both a real and nominal
executive

(B) bicameral legislature

(C) the system of judicial review

(D) None of the above

Which one of the following

Schedules of the Constitution of
India contains provisions regarding
Anti-defection Act?

(A) Tenth Schedule
(B) Eighth Schedule
(C) Sixth Schedule
(D) None of the above

National Development Council in
India was established

(A) in 1951

(B) in 1952

(C) in 1953

(D) None of the above

Which Article specially deals with
the amendment procedure of the
Constitution of India?

(A) Article 352
(B) Article 368
(C) Article 370
(D) None of the above
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Who prepares ‘Budget’ in India?
(A) Planning Commission

(B) Supreme Court

(C) Finance Ministry

(D) None of the above

Which one of the following subjects
comes under the Concurrent List?

(A) Education
(B) Defence
(C) Postal Services

(D) None of the above

The Chief Justice of a High Court in
India can be removed by

(A) the decision of Lok Sabha
(B) the Order of the President
(C) the impeachment in Parliament

(D) None of the above

Which one of the following subjects
is not entered in the Union List?

(A) Foreign Affairs
(B) Railways
(C) Public Health

(D) None of the above

The joint sitting of the two Houses of
Parliament is presided over by

(A) the President
(B) the Vice President
(C) the Prime Minister

(D) None of them
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The President of India can send his
letter of resignation to

(A) the Chief Justice of India
(B) the Vice President of India
(C) the Prime Minister of India

(D) None of them

Who appoints Chief Election

Commissioner in India?

(A) The Chief Justice

Supreme Court

of the

(B)
(C)
(D)

The President
The Prime Minister

None of them

When were the first
Elections held in India?

General

(A) 1950
(B) 1951
(C) 1952

(D) None of the above

Can any Constitutional Amendment
Bill be vetoed by the President?

(A) Yes
(B) No
(C) In some cases only

(D) None of the above

Which one of the following is not a
Union Territory?

(A) Pondicherry

(B) Lakshadweep

(C) Goa

(D) None of the above
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The elections to the Panchayats and
Municipalities are to be conducted

by
(A)
(B)
©)

the State Government
the State Election Commission

the Central
Commission

Election

(D) None of the above

The Preamble to the Constitution of
India was amended for the first time
by

(A) the 24th Amendment Act
(B) the 42nd Amendment Act
(C) the 44th Amendment Act
(D) None of the above

Article 370 of the Constitution of
India deals with the

(A) Emergency Power of the
President of India

(B) Special Status of Jammu and
Kashmir

(C) Special Provisions for Minorities

(D) None of the above

In England, the head of the House of
Commons is called

(A) Prime Minister
(B) Speaker
(C) President
(D) None of them

Which one of the following countries
has the most powerful Second
Chamber in the world?

(A) USA

(B) France

(C) Canada

(D) None of the above
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Which of the following countries has
no Second Chamber in its
Legislature?

(A) France
(B) China
(C) USA

(D) None of the above

There is no written Constitution in
(A) China

(B) USA

(C) Britain

(D) None of the above

The Cabinet Members in the USA
are appointed by

(A) the President
(B) the Vice President
(C) the Prime Minister

(D) None of them

The name of the Legislature of the
USA is

(A) National People’s Congress
(B) National Congress
(C) Congress

(D) None of the above

In Britain, the Legislative powers of
the House of Lords were curtailed by

(A) the Magna Carta, 1215
(B) the Bill of Rights, 1689
(C) the Parliament Act, 1911

(D) None of the above
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76. The members of the House of 76. ¥ TSAICG GezfeiTer W
Representatives in the USA are fifos 2o
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(A) 72 T=EH &

(A) two years
(B) o1 T=eaq &y

(B) three years

(C) five years (C) b T=(AF &<

(D) None of the above (D) ToicaR FICNDE o

77. In Britain, the Supreme Court came 77. EEE AN @0 TS =7
into existence

(A) 200 AE
(A) in 2008 O
(B) in 2009 . -
oS0
(C) in 2010 © =
(D) TR (RIS
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(A) 90 members (B) Soo & T fi@
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The French Parliament is composed
of

(A) National Assembly and Senate

(B) House of Commons and Senate

(C) House of Representatives and
Senate

(D) None of the above

A  mixture of Presidential and
Parliamentary features is found in
the system of Government in

(A) USA

(B) France

(C) Britain

(D) None of the above

The French Prime
normally appointed for

Minister is

(A) ten years

(B) seven years

(C) five years

(D) None of the above

The members of the Senate of
French Parliament are elected for
(A) nine years

(B) seven years

(C) five years

(D) None of the above

Which one of the following is the

highest organ of the State power in
the People’s Republic of China?

(A) The Standing Committee

(B) The State Council

(C) The National People’s Congress
(D) None of the above
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The National People’s Congress is a
(A) Unicameral Legislature

(B) Bicameral Legislature

(C) Multicameral Legislature

(D) None of the above

The Standing Committee of the NPC
of China holds a tenure of

(A) ten years
(B) seven years
(C) five years

(D) None of the above

The highest decision-making body of
the People’s Liberation Army in
China is

(A) the People’s Congress
(B) the Central Military Commission
(C) the Central People’s Commission

(D) None of the above

Which of the following countries has
a unitary system of Government?

(A) USA
(B) Britain
(C) Switzerland

(D) None of the above

‘Parliamentary Supremacy’ is found
in the political system of

(A) USA
(B) Canada
(C) Britain

(D) None of the above
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The Vice President of the USA is
elected for

(A) four years
(B) five years
(C) six years
(D) None of the above

The process of ‘Gerrymandering’ is
associated with

(A) Judicial Review

(B) Citizenship

(C) Demarcation of Constituency
(D) None of the above

According to

central concept
Politics is

Morgenthau, the
of International

(A) International Conflict

(B) Cooperation

(C) Power

(D) None of the above

Which one of the following theories

is considered as the oldest theory of
International Politics?

(A) Liberalism

(B) Realist theory

(C) Marxian theory

(D) None of the above

“Diplomacy is the brain of National
Power.” Who said this?

(A) Joseph Frankel

(B) Max Weber

(C) Morgenthau

(D) None of them
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The Headquarters of the UNO is
located in

(A) Paris
(B) London
(C) New York

(D) None of the above

The term ‘Detente’ means
(A) increased tension
(B) forthcoming war
(C) relaxation of tension

(D) None of the above

Who wrote the book, Politics Among
Nations?

(A) Frankel
(B) Morgenthau
(C) Holsti

(D) None of them

The UN came into existence in the
year

(A) 1945
(B) 1946
(C) 1947

(D) None of the above

In every year, the
officially celebrated on

‘UN Day’ is

(A) 1st January
(B) 25th September
(C) 24th October

(D) None of the above
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Where is the HQ of International
Court of Justice located?

(A) Hague
(B) Geneva
(C) Vienna

(D) None of the above

The normal tenure of the UN
Secretary-General is

(A) 3 years
(B) 4 years
(C) S years

(D) None of the above

The permanent Secretariat of
SAARC is established at

(A) Dhaka

(B) Karachi

(C) Kathmandu

(D) None of the above

The UN General Assembly meets
regularly

(A) once a month
(B) twice a year
(C) once a year

(D) None of the above

The treaty to form NATO was signed
at

(A) Washington
(B) Paris
(C) Geneva

(D) None of the above
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The Judges of the International
Court of Justice are elected for a
term of

(A) five years
(B) six years
(C) nine years

(D) None of the above

The word ‘Third World’
used by

was first

(A) Hitler in 1939

(B) Alfred Sauvy in 1952

(C) Abraham Lincoln in 1857
(D) None of them

The number of permanent members
of the UN Security Council is

(A) two
(B) four
(C) five
(D) None of the above

How many kings are mentioned in
Kautilya’s Mandala theory?

(A) Four
(B) Ten
(C) Twelve

(D) None of the above

Who was the architect of modern
India?

(A) Raja Rammohan Roy

(B) Bankim Chandra Chattopadhyay
(C) Dr. B. R. Ambedkar

(D) None of them
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The book, Karma Yoga was written
by

(A) Rabindranath Tagore

(B) Swami Vivekananda

(C) Subhash Chandra Bose

(D) None of them

The term ‘Socialism’ was first used
by

(A) Lenin

(B) Marx

(C) Robert Owen

(D) None of them

Who wrote the book, Hind Swaraj ?
(A) Aurobindo

(B) Gandhiji

(C) Marx

(D) None of them

Who vitalised the nationalism of
India by putting it on a spiritual
level?

(A) Swami Vivekananda

(B) Raja Rammohan Roy

(C) Gandhiji

(D) None of them

Machiavelli was

(A) a Greek philosopher

(B) an Italian philosopher

(C) an American philosopher

(D) None of the above
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“Over himself, over his own body
and mind, the individual is
sovereign.” Who said this?

(A) Bentham

(B) Mill

(C) Green

(D) None of them

Who is regarded as the father of
Public Administration?

(A) Herbert Simon

(B) Goodnow

(C) Woodrow Wilson

(D) None of them

Who wrote the book, Introduction to
the Study of Public Administration?
(A) L. D. White

(B) Goodnow

(C) Nigro

(D) None of them

“Hierarchy is a universal
phenomenon.” Who said this?

(A) Fayol

(B) Riggs

(C) Mooney

(D) None of them

Who among the following classified
decentralization into four categories?

(A) Waldo
(B) Fesler
(C) Wilson

(D) None of them
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Which one of the following is a
demerit of centralization?

(A) Heavy workload at top level of
administration

(B) Uniformity in functioning
(C) Prompt decision

(D) None of the above

Who created the office of the District
Collector in India?

(A) David Hume

(B) Warren Hastings
(C) Waldo

(D) None of them

The first Five-Year Plan in India was
launched in the year

(A) 1950

(B) 1951

(C) 1952

(D) None of the above

The financial year in India begins
from

(A) 1st January
(B) 1st March
(C) 1st April

(D) None of the above

Which period of time is called Plan
Holiday’ in India?

(A) From 1955 to 1959
(B) From 1966 to 1969
(C) From 1960 to 1963

(D) None of the above
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Which Part of the Constitution of
India deals with citizenship?

(A) Part I

(B) Part II

(C) Part III

(D) None of the above

Who was the Chairman of Finance
Commission?

(A) K. C. Neogy

(B) Y. V. Reddy

(C) A. K. Chanda

(D) All of them

Which Five-Year Plan was closed

one year prior to its scheduled
period?

(A) First Five-Year Plan

(B) Third Five-Year Plan

(C) Fifth Five-Year Plan

(D) None of the above

How many members are there in
‘Estimates Committee’ of India?

(A) 20

(B) 25

(C) 30

(D) None of the above

The term of the Comptroller and
Auditor General of India is

(A) 6 years

(B) 65 years of age

(C) 6 years or 65 years of age
whichever is earlier

(D) None of the above
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How many districts are there in
Tripura?

(A) Eight
(B) Ten
(C) Fifteen

(D) None of the above

Who is regarded as the father of
Local Self-Government in India?

(A) Gandhiji
(B) Lord Ripon
(C) Nehru

(D) All of them

The 73rd Constitutional Amendment
Bill was passed by Lok Sabha

(A) in 1992
(B) in 1993
(C) in 1994
(D) None of the above

How many functional items are
there in the Twelfth Schedule of the
Constitution of India?

(A) 15
B) 18
C) 24
(D) None of the above

The Chairman of a Municipal
Corporation is called

(A) Commissioner

(B) Speaker

(C) Mayor

(D) None of the above
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When was the ‘Tripura Municipal
Act’ enacted?

(A) In 1990
(B) In 1992
(C) In 1994
(D) None of the above

If a Panchayat is dissolved, elections
are to be held there within

(A) two months
(B) three months
(C) six months

(D) None of the above

Which one of the following is correct
match?

(A) Tenth Five-Year Plan—
2001 to 2006

(B) Ninth Five-Year Plan—
1994 to 1999

(C) Eighth Five-Year Plan—
1985 to 1990

(D) None of the above

The Tripura Panchayat
Act, 1993 has introduced

Raj

(A) 2-tier system

(B) 3-tier system

(C) 4-tier system

(D) None of the above

When was the Agartala Municipality
instituted?

(A) In 1870

(B) In 1871

(C) In 1872

(D) None of the above
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136.

137.

138.

139.

140.

‘TG e eme’ e o 292
(A) Ssdo A

(B) S®%%

(C) Sod8 T

(D) TR @ICAIbE .

M (T 21%IETS (S¢S I/, S CTA
ferfoel Srffo® 2

(A) TR T

(B) o= 0™ T

(C) =& M T

(D) TR @GS o

T Sfefe (IR TR WE 2

(A) TN ARG AT —
2005 (YCF R00Y

(B) &Y AL “IfFg=—

S558 (ACTF Sob5d

(C) BT 2[=eqIAF “fFFaT—

SOV (UG Svdo
(D) TR @ICbe T
Qo1 “%ecreare e, Sovo fG7[m bl
FECR
(A) TBEIRFE “%Ee I8!
(B) famalRig s 3<%
(C) PREARME “I%ecTe T
(D) TR @ICDE o

SISl 7Tl T 900 2cfRE 2
(A) Svao e

(B) Stas e

(C) Swax A

(D) Tcad @ICbe =



141. At present, how many Municipal | 141. JONCA f@"ﬁﬁ@% TPl AT

Corporations are there in Tripura? R ?

(A) One (A) 9D

(B) Two (B) E(,ﬁ_;

(C) Five () “5fs

(D) None of the above (D) TR @3
142. The number of nominated members

in TTAADC is 142. TTAADC(S (A SWCE R 281

(A) two (A) w2

(B) three (B) fom

(C) four (C) v

(D) None of the above (D) TR (DS T
143. What does ‘Elite’ mean? 143. ‘@RE ==y iz §19

(A) Separate class A) 72 o

(B) E:lzir;c;r class of selective (B) 122 w1 R e

(C) Party (C) W

(D) None of the above (D) TR AR

144. Who wrote the book, Human Nature | 144. Human Nature in Politics %6 (&

in Politics? feTeacee 2

(A) Graham Wallas (A) aTZ ST
(B) Heinz Eulau (B) (23Te 21T
(C) Mackenzie (C) (&

(D) None of them (D) 9rE (T2 7

145. ‘The Untouchability Offence Act’ was

passed in the year 145. ‘O PTOPREIE S A2l A 2R
(A) 1952 (A) Seex

(B) 1953 (B) S5 S

(C) 1955 (C) sSvee e

(D) None of the above (D) TYER @I T/
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146.

147.

148.

149.

150.
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The ‘Estates’ system indicates
(A) Political Socialisation

(B) Political Culture

(C) Social Stratification

(D) None of the above

Almond and Verba classified
Political Culture into basic

(A) two categories
(B) three categories
(C) four categories

(D) None of the above

Which of the following is
characteristic of caste system?

the

(A) Hereditary

(B) Complex of taboos
(C) Endogamy

(D) All of the above

‘The Hindu Succession Act’
passed

was

(A) in 1935
(B) in 1945
(C) in 1956

(D) None of the above

Which one of the following reasons
is responsible for the caste system
in India?

(A) Mandalization of Politics
(B) Role of the Religion
(C) Conservative Mentality

(D) All of the above
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(A) AT ARSI
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(C) SIS BRI

(D) Tolcaa @ICbe

SIENSG 8 O] AG(ANSD ATHS(T Sl
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(A) 72 cofes
(B) a1 cufeice
(C) bR e
(D) T°lcad FICbe =

s TSfafe et wfozr sy 2

(A) IR

(B) ficadrers wfberel
(C) @A
(D) TR Rl

(A) S>9€ e

(B) S>»8 et

(C) Svey e

(D) TR @ICoe o
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Ty IR 2

(A) ArSNoT TP

(B) «wfa gl

(C) FFemte] TePRFel

(D) TEd TRBf
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

feraferiRie et sicet e =g -

1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

2/l 2ieam Tex f2iica @ bl s oredl Siier ©f (Ae weHIg wa TeRt Ao OMR Teaeicg (redl et FICE =D
T AN pefsice] FIceTl e e 0o 209 | @ Ted fbfs w91 207 ¢olest O S AfEe w1 e A

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
AR (FICTIE2 OMR Teae[@fb ©% F9¢3 1 | OMR TS0 (GRS 7151 F161 A T80 (1< A 11 | A1 Sroma
G FR TeecE WS T SN =S Sl (I QAR e = o

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR TE7[@ 3% 2R7[0a TIRICH AP o] SReTge 0O 2 | (FICT SR (Y09l Ffb € *Mafosre @b 2el) OMR Ted7[@
S 2o 7Cs Crel AT 1l |

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

AP SIHCT M-« OF OMR Tea7[(qq 5[ @32 27(Cad 11 fgerelcq force 23 |

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

TR TG FIE G2 FCHI SHRCTADBIG PTG BT ST (I R N FTR1 FoE, 7071 6 JUASTS M2, (eI, (AR
T (AR B [Toiea i “QFl 2@ /0% 2@ 0o (e 23 1l |

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

] 20F1 TSGR TS (BN 2R (FCHR T0Cd ~FrHI-1:B I F6 Wi F1 2031 TP R SR TG IS €
FCOI SRCTADD FIE (TS IR AR |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.

CTBR A7MRACHACTD 1 BASIEEoT-97 RO SRHie =Iol [ 7R 203 O P 2 ~A[a$a 0o #=ea 1 |

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

IR BASTGCAGC (TS ST M- [ FFF FACS 2Cd, LT 7] 20 OIS 220eTd #1493 AR
BB b OMR Twglq & (ReqIq 7N |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

SICHCD Mo« (B T Pl 3R FEITS SASGCebA -7 60 TeR7Iq &l (e Arere (ICal “Rrwi] “Ar 251 el Fce
#RCTA =1 | At (I AR SICHre™t Mb-« (277 FEF ] FC 9Cd Fof+l O OMR TS71q S SR ¢ 9197 B G2 9
e IR 2T 41 20 |

Use of any type of calculating device is prohibited.

@ CPICA 40T FTFCIBCIR 2 S7jefeqce] foifem |

The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

[P 29/ FCFI 0 A SAHA (@CET 7 6 Wil SRR bifeTe 203 | 9] 4hes SEhe IR @eE RN ¢ e
el e 2eq |

No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
(I BREICSS 2P @R OMR  TERACET (G B (R <1 SISl 1 A =11 |

On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.

YA (19 2SI 7I¢ AT T2 O OMR TEa9Iq FEIS SIS0 FIC2 S (¢ | AT 2p#iafs @iena A
e @ g |
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